BUTEX Admission Test 2008-2009

01.* A,B,C = =@ &% | et 5 @, Ax(BNC)=(AxB)N(AxC).
T 4, (x,y)eAx(BNC) =xeA, ye (BNC) = xe€A, (yeB @« yeC)
=(xeA,ye B) @ (xeA,yeC) =(x,y) E(AxB) a3 (x,y)e(AxC)
=(x,y)e(AxB)N(AxC) ~Ax(BNC)c(AxB)N(AXC)..cccr e (i)
W« (x,y)e(AxB)N(AxC) =(x,y)e(AxB) aw (x,y)e(AxC)
=(x eA,yeB)a® (xeA,yeC)

X € A,(yeB ax2 yeC) =xeA, ye(BNC) =(x,y)eAx(BNC)
- (AxB)(AxC)c Ax(BAC)....(i) - (i) e (ii) @z 41, Ax(BNC)=(AxB)n(AxC)

02. G0 ITACES WYFT 3 AT g & 10 & el 16w vt a2
utyi: Ao vag Bow =P, =720 S [@FIR A’ a7 P z0e #1i]

03. s @, D}Uﬁ(xn+ijznﬁﬁﬂﬁﬁmﬁﬁﬂﬁx-ﬂ@%ﬂml n=>5 XA 9 AWA
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S S o, T, =2 C, (xP " (xP) =2 ¢, x Crr = e
;. X IMG© A7 AR TM 2(11-—r)p=0 m p#0, 2(n—r)=0 n=r
SR n=r TR (0 >0) SR a6 x I o AT | TR I TR G A 0 GG A )
I n=>5, SEA r=5 .. AATH = 2¥°Cg = 19C; = 252 (Ans.)

04. T tanOtang = a-b 2 @ em T @, (a—1:»11:::.1*52&‘!)(:.:1-—l:m:n:::sZ(p)za2 —b’

a+b
AIYA: tan O tan@ = ﬂﬁ: :::»tanzﬁtanch=:—:_z = (a—b)=(a+b)tan’Btan* ¢
a+
1—tan® 0 1—tan’ @
—_— — = 2 — —_— —
LHS. =(a—bcos20) (a—bcos2¢p) [a bx1+tan28][a bx1+tan3(p]

(a+atan?@—b+btan’0)(a+atan’ g—b+btan’
- 1+tan’ 6 ]1+tan” @

= 4

‘(a—b) +(a+b) tan? 9} {(a —b) +(a+b) tan’ (p}

1+tan” 0 1+tan® @

.

=4F(a+b)tan29(1+tan2(p) (a+b)tan’ @ (1+tan’ 0) | | g <oz ]
1+tan” 0 1+tan® @

a—b _

=(a+b)"tan*Otan" @ =(a+b)’ x—— =(a+b)(a-b) =a’ —b? =R.HS. (Proved)
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05. &9 8 tan™ J;=%{ms

_ 1 r 1 o1-Gx)' 1 al=X_ oo proved
ST =tan~' VX ==—x2tan™' VX ==cos =2 cos” —— =R.HS.(Proved)
LHS. =tan™ vx 5 5 1+(&)2 - ™
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06. WIS, y=mX, y=m,xaR y=Db @iy w st fagred crage = Z[ml_mjl

_ y—mX b
Wy_mlx Bf}}qnzx A(ml )
y =m,X — (b
y=b O (mz )
R y b _y _ b
=b’ = = H '.:b,]{__—__.
> RS m, m, Y m, m,
b b
x=0,y=0 (U,U), [—-,b] 8 [—-,b} EHRYaT |
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07. T @, x + 4y =/a e < Frtewa o G2a wrerfe ctam crawet —a’, (f6d ) |

T: VX + 4y = Va wikge
Xx=0Fy=aqRy=0TTx=a

ﬁ:\/g—«ﬁ_{ = y=a+x—2x/a_x-
2

.-_sz‘aydx=r(a+x_2\/;&)dx: ax+x——2ﬁxgx3m
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,, 8 4, 6a +3a" —8a =éaziﬁftﬂ?ﬁi (Showed)
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09. W26 e P+Q «k P-Q *o=9 2« MWWMWH%HHWWWWW

O @ T ot | rAans @, Ptan O =Qtan o . N D ™ ¢
FAYE: I sine A TS AR, Y 0-8 ph Vi
P-Q

P+Q ~ P-Q _ P+Q _sin(a+6) O PHQ A
sin(o + 0) sinfa—8)  P-Q sin(a—0)

P+ - ' in(o— R
— Q+P Q=E1n(ﬂ‘.+e)+5.ﬂl(ﬂ B) [WWWW] --—--------“"""_7\“

P+Q-P+Q sm(u.+8)—s1n(u—9) \ yiooN,

2P  2sino.cosB® P tana P-Q / o
=>—= — —=—— . Ptan 0 = Qtan o [Showed

2Q 2cosa sin® Q tan® < [ {_] P
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10. a3 wH 6 T ars 4 w39 itg | @ A = eI @7 2 B 96 (rew T | - =0 (Teh
QAT (o A =7 A | T Y I ST FATS =T ¥, ST RO 710 =11e7 T <SR Syt e <9 |

AAYE: =T 91 = 6 10; 0 37 =(6+4)=101%
2T 0 (e JT I e 97 =55 b 57 =915

3 I T 24 S8 Aol =§ (Ans.)

11. GIEoIET SfaFaiEe Sreaces SRR GBS &ite 9Fem @EEd A a9 oo 10m | ¥ #tda goa g
S ATACAT BT I9 A1 @ e e one &F S o af ol 391 A 39 = | @ @ &fsit 397 @eF 13re

20km / hr «ifs 57ig = &F 120cm/ s* $a0e! AT 20T G7 AWID T GO[ T61 40O A2
STRHI: @RI, S u=0; Rt v=20km/hr =5.556ms™ w7t a =120cms™ =1.2ms™

2 2

2
vV —u :(5.556) —12.860m
2a 2x1.2

Feate @b 120cms ™ waet 20km/hr @@t 3 F97 Sl 12.86m @y Sfoery ware 701 | udk ofefs

Now, v: =u’+2as; s=

T AR (Ans.) (FIAT SOIF T IACS AT T |
12. 26 9 8m L GIT ZRAT @RTS Iw R e Ims™ TR0 OF (IRt GRteite AT | 3RA e
I 3ms ™! SR CGITS AT FOF A4 8 9O YAy SOy ST (6 ZRIF 490w ARy

sy S, el s vy oI Jes Fee &1~ | oAr 5+8=-;_x1xt1 (<= we]

2

awe s =3t [eRm e R, 3=%—3t A, 6t—t* +16=0 1, t* —6t—16=0

ot=-2,8t#-2, .. t=8s S=3t=3x8=24m (Ans.)8s,32m
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13. TRRIet wRiEe a3 =I5 vt wew o9 3x10°kg 9k gEnAw sq 50,000 gm | gEAr 15kgs™
TIZS T Wk 150ms™" 8 Fiere fsfe e #iter it Sog grer iy @4 |

ST Fz[EJV —15kgs ™ x150ms~" =2250kems 2 =2250N  (Ans.)

At
14. 93 100 watt. @7 s Carois 7 R 1 Fom onfsm s 30°C e 40°C 1% 3% 3021 Jwm
T g <9
W pt

Ty J=— 9", W=pt, H=msADO ..J=
H msAQ

7= 100x7x60  _ 4 o5cal (Ans)
1000 x1x (40— 30)

15. O QI G019 O Sgiie St 27.87uT o e e 30° e & Fie St oot S e 9 |
syt @A, H=27.87uT 6=30°

We know, H=Bcosd =g __ 27.87x10°T =32.18uT
COSO cos30°

16.* e 19 7f2 7y @13 0.25 mewerst @ i 38 @Riee A 9 0.35m Wi S 98 iEeiE (e
T OfF $© FHOE 1 @75 I FALS (A7

g 94ieT, u=0.35m; v=-0.25m; f=7?

1 1_1 1 . p=-1.143D

L _
f v f 035 025
(Ans.) —1.143D =To[ 99 (13 GILT F9C S |
17. 17 =fifite 50cm e «bfb g Witg | e 9 ¢, Weed Gied #ifRe oo 57cm Trimda «of 38 T 7= |

TR SR S, P dfemes =% -.§in@, =—
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Q4, tan 6, = "111; ~.r=htan8, = 0.5tan(48.59°)

=0.5669467m =~ 0.57m [Ans.]

ISR R BT AT O 57cm TIPMET 3t 38 W 2(F |
18. 0.50m @ 0.51m o ff¥e awq< 37 7o offS o 3% KB R, e o @ W o
STIYI: 4 SSACF Y 5T 8 7 |

o, 2 = 0.5m, %’: = 0.51m

A =2m, A, =2.04m; A, > A, e f; > f,

L f —f, =3 _3 v[—l———]—]-_-?, - v=306ms™ (Ans.)

v V
A A, 2 2.04

R, | o |



19. a3 Irevw weem oF q@ww 50 @ieew T i 1A SR &9 v e wuinen R e 15ce #iif eRize
| AR & @ e oo S oieT 4.75 zE, J 93 W e e ) (S Srrw)

st = _ PRt aar, I=1A; R =5Q; m=15g
s 6H msAQ S=1Cﬂ.lkﬁlg-l t = 60sec.
= X9X00 =42 T (Ans. _ 4780 —
15x1x4.75 1 Jeal ( ) AD=4.75°C =4.75k
20. 1000 i 8 com s foow o 2.5A it emike = 0.5x 10~ Wb . Frsy S T | T =
e [[efy =g |

TR @, n=1000; [=2.5; ¢=0.5x10"Wb

= wIH, nd = LI L:ndJ:lGUOxO.leU" —0.2H (Ans.)
1 2.5

21. =g H,SO, 9 av 5 IR o Farge WiR | G 7= fm sifve w=re 0.02M KMnO, g3t
98.5cm’ =Tt | R SRT 9T ¥ f2w?
Aad: Fe +H,SO, =FeSO, +H,
2KMnO, +8H,SO, +10FeSO, =K,SO, +2MnSO, + 5Fe, (SO,); +8H,0

2 Mol KMnO,, =10MolFe?*

<1, 1 mol KMnO, =5 mol Fe?t =5%55.85 om Fo?

0.02x98 mol KMnO, = 5%55.85%x0.02x98 = 0.55gm Fe
1000 1000

2. 6.25 gmpAeieE @ HCl «w Riwmms v 37°C wwet @ 750mm(Hg) sieet 1.265 L CO, =it »hemr
¢sieT | @ pateerd CaCO, @7 *reaq offw $o7 [CaCO, @ s s 100

st CaCO, + 2HCI = CaCl, + CO, +H,0 5

=128 ot V=1.265 L
PV =nRT =>n=§—¥ 760

— ~1q,-1
_750/760x1265 _ o 00 vioi R=0.082 L atm mol "k
~0.0821x310 T=(37+273)K=310 K; n = no of moles

Imol CO, =1mol CaCO,

-.0.049 mol CO, =0.049 mol ~ CaCO, = 0.049x100g CaCO, = 4.9g CaCO,

& peRER CaCO, @ et Afa = B‘%xmo% —78.4% Aus.

23. TNarefE od o9
¥ (O)-COOH +C,H,O0H ———
(¥) AgBr +2NH,OH—

27 1 4
(%) Al+ n—= He+?
13 0 2

o B R

107 2




T () (O)— COOH + C,H,OH —=— {O)- COO-C,H, +H,0
(¥) AgBr + 2NH,OH — [Ag(NH,),]Br+2H,0

27 1 4 24
(N ""Al+ n— He+ Na
13 0 2 11

24. 5% s Gel g 40ml FEmERE aftes S0ml & of epifite 3t | e 53 cefE® Ter

TAYH: Snaon = I'{EE X 3-:? = %MIVNanH X SNaoH = Vhcl X Sue) ++ Sucl = %z;‘” = 1M
25. I AF T ¢ (F) AT AN - | () G2 TR LTS -mv I RERIET S (<1 E— r
T (F) <O >—N=N —<O >—NH,
N
() R-(FH-{;Z-O
NH3

26. 3o =T gt e Wltes W@ 0.20mol/L 93 cfearT SpiftReds vwwa 0.30mol/L | ufifts
aPIes Ruaem <eet I 1.80x10° mol/ L grergafss pH w7

Ty pH = pK._ +log [Salt]

[Acid] [Salt]=0.3m ; [Acid]=0.2m
K,=18x10"m - pH=27
=—lng(l.8xlﬂ*)+lug[§§) i

=4.74+0.176 =4.916 (Ans.)
27. 30°C wrma @3 95 kPa s1eet 250 ml siemew 0.2g 20 & NioR SiHRe o7 3707

W
et: PV = ZRT = M =§":;RT V=250ml =250x107L
0.2x0.0821x303 R =0.0821Latm mﬂlth"; T=303K
=9y 250x10° = 21.2gm (Ans.) . 95
= tm* = ().
101.325 101325215 8 0.2g
28. b feferar ffey Steian o g RSy 31 sihewr o1 @ e L a7 Reidiee logk et @ o e
T
R ANsT W O vie — 75 | fAfeais Afems «fe To7 log k slope = -Ea
|S 2.303R
A I = — L = E, =75x2.303%8.316 T
2.303R -1

=1435 Jmol™ =1.435 KJmol™
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29. o eRw @ RfFTm i @t 1.0molar 23 RfFnw 29 &% 1x1072s™! | Rfssnifor arafes fe
(R9) 8 1min =it S (=) IRT 371

Y SREe g ﬁ‘i =KC, =10"% x1=10"*molL 5!

dt
%, 1 mi - X
§, 1 MIN 799 9 E——Kct Cﬂ‘-'iiTE?[Ct=CﬂE
&’
dt _ KC, C, _ Cuﬂﬁm _ Kt _ _-10"2x60
3 KC, ch — C. =e = =e =(.5488
dt
o dx’ dx
A3 T:_[t—=0.5433:,':5=0.5433x10“°1 =5.488x107° moll”'s™ (Ans.)
30. TR D FA0 N 1 5 min 9 46 5 PRI Sial ©feR &1Z 5IEA! 6t TS & AR =i ot 251
Elt 63.5
A W, = E=——: I= . =
= 56500 [ 5 I SA, t=15x60sec
63.5x5x15x60
= =14
2% 96500 5g Cu (Ans.)

A

31. Make Sentences with the following idioms and phrases:
(a) Every nook and corner. Ans: He searched the ball every nook and comer.

(b) Out of the blue. Ans: The new was out of the blue to him.

32. Correct the following sentences:
(a) Was anybody hurt in the accident?

(b) Two thirds of the boys have passed.

(c) I got admitted into this college. Ans: I get admitted into this college.
(d) Hurry up yourself. Ans: Hurry up.
(e) He is bad at English. Ans: He is good at English.
33. Fill in the blanks:
(a) She bursts into tears. (b) We won the game by three goals to one.
(c) It is useless for us to quarrel. (d) Snow does not fall in Bangladesh.

(e) The man divided his land among his sons.

34. Add tag questions to the following:
(a) We'd like to play tennis today, wouldn’t we?

(b) You want to be an engineer, don’t you?
(c) Success can't be achieved without effort, can it?
(d) Parents take good care of their children's education, don’t they?

(e) Your father lives in the village, doesn’t he?
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